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SAMPLE PAPER 6: PAPER 1

QUESTION 9 (50 MARKS)

Question 9 (a) Question 9 (b)
V =340sin(10077) Maximum voltage is 340 V.
PeriodP=2—7T=L $s=0-02s
100w 50
Range R =[-340, 340]

Question 9 (¢)
t 0 0-005 | 0-01 | 0-015| 0-02 | 0-025 | 0-03 | 0-035| 0-04
100mz 0 | 37 | = | 37 | 2xn | 37 | 3x | I7 | 4«
sin(1007t?) 0 1 0 -1 0 1 0 -1 0
340sin(1007?) 0 340 0 -340 0 340 0 -340 0
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Question 9 (d)
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Question 9 (e)
V' =340sin(1007¢)

a =340x1007 cos(1007¢) = 34 0007 cos(1007¢)

dt

@—It/} =34 0007 cos(1007(0)) = 34 0007 Vs
=0

(Z—It/] =34 0007 cos(1007(0-005)) =34 0007 cos(% m)=0Vs™"
t=0-005

(d—q =34 0007 cos(1007(0- 01)) = 34 0007 cos() = —34 0007 Vs
t=0-01

Question 9 (f)

V =340sin(10077)

V* =340 sin” (1007¢)
=115 600x 1 (1-cos 20077)
=57 800(1 — cos 2007)
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0-01
V= ﬁ‘[ 57 800(1 —cos 2007¢) dt
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=57 800 V*



